pEHhitlc www.henanzsb.com

2004 FNFAEEZBEESFFR
IZIRINF TR EEM A FHNRBI S S E
/\:H:%'h:l _tﬁ%

Part1 Vocabulary & Structure (30 points)
Directions: There are 30 incomplete sentences in this part. For each sentence there are four choice
marked A) ,B) ,C) ,and D) , choose the ONE that best completes the sentence.
1. She studied hard at school when he was young, ___ contributed to success in later life.
A. so that B. therefore C. that D. which
2. a young woman, the office was empty.
A. But for b. Except for C. Besides D. Except
3.Tom is one of those students who friendly : however, it is very hard to get along with him.
A. is appeared to be B. are appeared to be C. appears to be D. appear to be
4. Smart he is, he can’t find the answer question.
A. like B. as C. that D. how
5. , We had to stay at home.
A.Iswasahotday B. Theday beinghot C.Which haveahotday D. Being a hot day
6. , your advice yesterday, | would have missed the train.
A.HadInottaken B.ifldidn’ttake C.IfIhaven’ttaken D. provided I didn’t take
7. They liked the area, but they could not the traffic noise.
A. get on with B. put up with C. put on with D. get up with
8. Some people consider cruel to use animals for experiment.
A. that it B. it C.itbe D. it being
9.1 was surprised to find his article on such an topic so
A. excited , boring B. exciting , boring C. excited, bored D. exciting, bored
10. You fact is exists no life on the moon.
A. that B. where C. there D. that there
11. Youcanspeak  in front of George, but you can’t eat in his restaurant.
A. freely, free B. free, freely C. free, free D. freely, freely
12. His speech was so interesting that it was constantly by applause.
A. interfered B. set up C.setin D. disturbed
13. He has planned to some money every month so that he can buy a house in the future.
A. used he B. set up C.setin D. set along
14. He used to get up at six in the morning, ?
A. used he B. did he C.setin D. should he
15. They found the lecture hard

A. to be understood B. to understand
C. for being understood D. for understanding
16. Finally the accused confessed to the girl.
A. kill b. killing C. have killed D. having killed
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17. Between you and me that boy of Mary’s was
A. as fat as strong B. fatter than stronger
C. more fat than strong D. has been made fun of
18. Tom got very angry when he realized he
A. was being made fun of B. is made fun of
C. had made fun of D. has been made fun of
19. | vaguely remember something like that.
A. that he had said B. him having said C. his saying D. him to say
20. He tried to make up the lost time staying up late.
A. with, by B. for, by C. with, with D. for, with
21. You can’t see the president you’ve made an appointment with him
A. when B. if C. unless D. except
22. The speaker doesn’t know how to his arguments.
A. put aside B. put away C. put across D. put down
23. The power of the people in this town has been decreasing because most young people
have left for the cities.
A. shopping B. purchasing C. enduring D. spending
24. Many new will be opened up in the future with university education.
A. opportunities B. necessities C. realities D. possibilities
25. It is high time you the problem carefully about what you will do in the future.
A. are studied B. must study C. studied D. study
26. In case he , please tell me.
A. has come B. will come C. comes D. would come
27. There are no medicines for Acquired Immune. Deficiency Syndrome.
A. effect B. effective C. efficient D. efficacy
28. He had no sooner finished his speech he withdrew.
A. than B. that C. when D. as
29. They done things that they ought :
A. not to do B. not to done C. not to have done D. not having done
30. He was caught in the rain yesterday, , he fill ill this morning.
A. on the contrary B. in contrast C. in other words D. as a result

Part 2 reading Comprehension ( 60 points ) .

Directions: There are four passages in this part. Each passage is followed by some questions or
unfinished statements. For each of them there are four choices marked A),B), C) and D, you
should decide the best choice.

Passage One
When we say that Cambridge is a university town we do not mean that it is a town with a
university in it. A university town is one where there is no clear separation between the university
RS B s SRV R B AR USSR . . R B O U VE AR AU AT . IBBCCE NS, IMEAEEHE, A
R TR S, ki b e R AL E B e bRt Ab: TR L FHAM www.henanzsb.com”. 2/9



pEHhitlc www.henanzsb.com

buildings and the rest of the city. They university is not just one part of the town , it is all over the
town. The heart of Cambridge has its shops, restaurants, market place and so on, but most of it is
university staff and students.

The town was there first Cambridge became a center of learning in the thirteenth century. Many
students were too poor to afford lodgings. Colleges were opened so that students could live cheaply.
This was the beginning of the present day college system.

Today there are nearly thirty colleges. Very few students can now live in college for the whole of
their course, the numbers are too great . Many of them live in lodgings at first and move into college
for their final year. But every student is a member of his college form the beginning. He must eat a
number of meals in the college hall each week.

Students are not allowed to keep cars in Cambridge, so nearly all of them use bicycles. Don’t try
to drive through Cambridge during the five minutes lectures, as you will find crowds of people on
bicycles hurrying in all directions. If you are in Cambridge at five minutes to the hour any morning

of the them, you’ll know that you are in a university town. Stop in some safe place , and wait.

31. Cambridge can be described as university town because

A. the university buildings fit in well with the rest of the town
B. the size of Cambridge is just as big as the town
C. the separation line between the university and the town is not obvious
D. the university is located in the town

32. In the first paragraph “but most of it is university”, “it”refers to
A. the rest of the cit B. the town
C. the heart of Cambridge D. the university

33. which of the following can best give the main idea of second paragraph?
A. Cambridge has a long history
B. Many students lacked money ,so colleges were set up then .
C. The town was built before the university.
D. It was cheaper for students to live in college than in lodgings

. 34. It is possible for the college students to
A. live in college form the beginning
B. keep bosh bikes and cars in college
C. have all the meals outside the college each week
D. live in college for their final year of the week

35. People found it hard to drive through Cambridge at five minutes to the hour in the morning

because of
A. the large numbers to cars in the streets
B. safety checks for the cars at this time
C. streams of bikes going in all directions
D. the speed limit of the car
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Passage two

If you want to stay young sit down and have a good think. This is the research finding of a team
of Japanese doctors, who say that most our brains are not getting enough exercises—and as a result ,we
are ageing unnecessarily soon.

Professor Taiju Matsuzawa wanted to find out why otherwise healthy farmers in northern Japan
appeared to be losing their ability to think and reason at a relatively early age ,and how the process of
ageing could be slowed down.

With a team a colleague at Tokyo National University, he set about measuring brain volumes of
a thousand people of different ages and varying occupations.

“Computer technology enabled the researchers to obtain precise measurements of the volume
of the front and side sections of the brain, which no late to intellect and emotion, and determine the
human character.” The rear section of the and brain, which controls functions like eating and breaking,
does not contract with age, and on can continue living without intellectual or emotional facilities.

Contraction of front and side parts — as cells die off — was observed in some subjects in their
thirties, but it was still not evident in some sixty and seventy — year — olds.

Matsuzawa concluded from his tests that there is simple remedy to contraction normally
associated with age — using the head.

The findings show in general terms that contraction of the brain begins sooner in people in the
country that in the towns. Those least at risk, says Matsuzawa, are lawyers, followed by university
professors and doctors. White collar workers doing routine work in government offices are, however,
as likely to have shrinking brains as the farm workers, bus drivers and shop assistants.

Matsuzawa’s findings show that thinking can prevent the brain from shrinking. Blood must
circulate properly in the head to supply the fresh oxygen the brain cells says, “The best way to
maintain good blood circulation is through using brain,” he says, “Think hard and engage in

conversation. Don’t rely on pocket calculators.”

36. The team of doctors wanted to find out
A. how to make people live longer
B. the size of certain people’s brains
C. which people are most intelligent
D. why certain people age sooner than others
37. On what are their research findings based?
A. A survey of farmers in northern Japan.
B. The study of brain volumes of different people.
C. Tests performed on a thousand old people.
D. The latest development of computer technology.
38. The doctor’s tests show that
A. our brains shrink as we grow older
B. the front section of the brain does not shrink
C. sixty — year — olds have better brains than thirty — year — olds
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D. some people’s brains have contracted more than other people
39. The word “subjects” in the sentence of paragraph 5 “Contraction of front and side parts — as cells
die off — was observed in some subjects in their thirties, but it was still not evident some sixty and
seventy — year — olds.” Means

A. something to be considered

B. branches of knowledge studied

C. any member a state except the supreme ruler

D. persons chosen to be studied in experiment
40. According to the passage, which people seem to age slower than others.

A. shop assistants, lawyers, and professor

B. Farmers, doctors and farmers

C. Clerks, professor and farmers

D. Lawyers, professor and doctors

Passage Three

When we turn on a tap get water, or press a switch to get electricity, we do not think of all the pipes
and wires which bring these main services to our homes.

The water is brought from the waterworks to each street by a large underground pipe- a water in
this pips is then forced by pressure into the smaller pipes which carry it to storage thanks at tops of the
buildings. Other pipes bring the water down from the storage tank to the kitchens and bathrooms in
the building.

When the water has been used, it is taken away from the building by drainpipes. These take the
waster water to another large pipe under road — the main sewer. The waster then flows along the
sewer to the sewage works where it is cleaned. This “clean” water is then poured into the sea or into a
river, or in some countries, sent back to the waterworks to be again.

Electricity is also brought to the house by a main, in this case a cable. This cable may be
underground or , in country districts, it may hang above ground on pylons. The cable is connected to
a meter in the building. Near the meter there is a master which can cut off the supply of electricity.
There are also fuse boxes when the master switch and the wires which take the electricity to each of

the switches in the building . All these wires, fuses and switches are the “wiring circuit”.

41.1t can be inferred form this passage that

A. water and electricity are the only main services in our houses

B. the pipes bringing water to our homes are unimportant

C. water is less significant than electricity in our homes

D. we are unaware of how water or electricity is brought to our homes
42.We call water ,electricity and sewer

A. wiring circuit  B. pipes, cables and drains C. main services D. underground services
43.How is clean water brought to our homes?

A. Trough pipes from the sewage works
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B. Trough underground main pipes
C. Trough pipes from storage tanks
D. Trough small pipes under the road
44. What happens to the waster water?
A. Itiskeptin a large storage tank
B. Itis flows away through drains to a sewer
C. It flows away through a water main
D. Itisreturned to the waterworks
45. Between a main cable and the master switch in our homes is
A. a light switch B. a pylon C. a fuse box D. a meter

Passage Four

How men first learned to invent words is unknown; in order words, the origin of language is a
mystery . All we really know is that men, unlike animals, invented certain sound to express thoughts
and feelings, actions and things, so that they could communicate with each other, and later they agree
on certain sings. There sings were called letters, which could be combined to represent those sounds
and could be written down. Those sounds, whether spoken or written in letter, and called words.

The power of words, then, exists in their associations—the things they bring up before our
minds .Words become filled with meaning for us by experience, and the longer we live ,the more
certain words remind us of the glad and sad events of our past ,and the more number of words
increases.

Great writers are those who not only have great thoughts but also express these thoughts in words
which deeply attract our minds and emotions. This skillful use of words is called“literary style”.
Above all, a real poet can express should, therefore, learn to choose ours words carefully and use
them properly, or they will make our speech silly and vulgar.

46.The origin of language is
A. treasure handed down form the past B. a matter that is hidden or secret
C. a problem not yet solved D. a question difficult to answer
47. One of the reasons why men in invented certain sounds to express thoughts and actions was
that
A. they could write them down
B. they could agree on certain sings
C. they could communicate with each other
D. they could combine them
48. which of the following is true about words ?
A. They can not be used correctly by most people.
B. They are used to express feelings only.
C. They are simply sounds and can be written down.
D. They cannot be used to express thoughts.
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49. The teal power of words exists in their
A. convenience B properties

C. invention D. representative function
50. In expressing their thoughts, great poets are able to

A. move us to action B. move men to tears

C. move us to succeed D. move men to fight

Part 111 close (20 points)

Directions; There are 20 blanks in this passage, and for each blank are four choices marked

A) ,B) ,C) and D) atthe end of the passage. You should choose the ONE answer that best fits into
passage.

Many teacher believe that the responsibilities for learning lie with the student. 51  along
reading assignment is give, instructors expect students to be familiar withthe 52 in the reading
even if they do not discuss it in class or take an examination .The _ 53  student is considered to
be 54  whois motivated to learn for the sake of __ 55 | not the one interested only in getting
high grades. Sometimes homework is returned _ 56 brief written comments but without a grade.
Even if a great is not given, the studentis___ 57 for learning the material assigned. When research
is__ 58 , the professor expects the student to take it actively and to complete it with 59
guidance. Itisthe 60 __ responsibility to find books, magazines, and articles library. Professors do
not have the time to explain__61__a university library works; they expect students, _ 62__grauate
students, to be able to exhaust the reerence__63__ in the library. Professors will help
students who need it, but__ 64 that their students not be_ 65 _dependent on them. In the United
States, professors have many other duties_ 66 __teaching, such as administrative or research work.
__67__ the time that a professor can spend with a student outside class is 68 . If a student has
problems with classroom work, the student should either 69 a professor during office
hours__70__make an appointment.

51. (A If (B) Although (C) Because (D) Though
52. (A) suggestion (B) context (C) abstract (D) information
53. (A) poor (B) ideal (C) average (D) disappointed
54.  (A) such (B) one (C) any (D) some

55. (A) fun (B) work (C) learning (D) prize

56 (A by (B) in (C) for (D) with

57. (A) criticized (B) innocent (C) responsible (D) dismissed
58. (A) collected (B) distributed (C) assigned (D) finished

59. (A) maximum (B) minimum (C) possible (D) practical
60. (A) student’s (B) assistant’s (C) professor’s (D) librarian’s
61. (A) when (B) what (C) why (D) how

62. (A) particularly (B) obviously (C) essentially (D) rarely

63. (A) selections (B) rooms (C) sources (D) origins
64. (A) hate (B) dislike (C) like (D) prefer
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65. (A) too (B) such (C) much (D) more

66. (A) but (B) except (C) with (D) besides

67. (A) However (B) Therefore (C) Furthermore (D) Nevertheless
68. (A) plentiful  (B) limited (C) irregular (D) flexible

69. (A) greet (B) annoy (C) approach (D) attach

70. (A or (B) and (C) to (D) but

Part TV. Translation (20 points)
A. Translate the following into English.
71 R E AT H o AR s A AR R
72. A BARAWTES Ty, ARIB R BT .
73. R BIF WSR2 N T 2R 2
74X FRHFAAE IR ARGE 1 AL IR BRI 5
75 R B S 1R AR T 3
B. Translate the following into Chinese.
76. Success relies not only on one’s ability but also a willingness to cooperate.
77. In spite of all the difficulties, they are determined to carry out their promises.
78. Educate a man and you educate an individual. But educate a woman and you educate a whole
family.
79. Scientists have done countless experiments to show that praise is far more effective than
criticism in improving human behavior.
80. Jim used to think that the more time he spent on his studies, the better grades he would
receive. But now he has realized that it is not always the case.

Part 5. Writing(20 points)

Directions: For this part you are required to write a composition about Smoking. You should write at
least 100 words, and the first sentence of each paragraph has been given to you.

Smoking

It is almost known to all that smoking is bad for people’s health.

Still, many people find it difficult to stop smoking.

Measures have been taken to help keep away from the harm of smoking.

R BH . A SC i R TEAR U R . B FE . RALTRMGEEH G AN B IR AT . BRCENE, AMEEEDE, &
BT B b AE W A B B e ARt Ab: TR E T AR www.henanzsb.com”. 8/9



pEHhitlc www.henanzsb.com

FRBF B . A ST i & FEA U AR . B8R, R IR Ml & B 7 SR VE NS48 H IR AT . BECCE N, AMEAERE, A
BT B b AE W A B B e ARt Ab: TR E T AR www.henanzsb.com”. 9/9



T T T T T T e T S " T e

12004 £ 7 LS iﬁ%;&? 2 T AT K

SRy, e, B R . ﬁ_w-ﬂr.ﬁ.,ﬁ,

Part I. Vocabulary & Structure( 30 points )

1.

6.

[#w&]D

[ MR ] o) g S0t 2 o, o b LA RS (v I A AR A e TR 00 o

[ 2] 6iah4,

839 RARO RS YIS = (S LS B gL 1B ey T I S E 7 0 O SR R TR (e e
{EE A7 00 D, which 515 PRI E A, 3F HLEEM A il

(#®®E]B

[ BE ) B — 480 LA I B TR .

[ 3R] 0] X Hd .

[ MEHT ] except for () AL PR - IR Wi v b R N O A T N A G G <
i besides fi except 7 16 )45 18] 5 L) 20 BT 0] — 25 8080, but for g8 B TEAVE,
(1 Uk o ¢ R " AR,

(#E]D

[ 3% ] i G R0 T - B e e At 2k 9N, A AL E 1 R

[ & ]ifhE s,

[ W4T ) A 0 - 2 A st i A Y i s iy AT FOE 20, MG R 3E , who ) S 52 i I
AT IR those students A4S one , SCHGNE shia) W HOES . Y 71, appear 5% 4
HIYTF -Fahia), REE Hide k- AR et MGETE D S IERRE R .

A#E) B

[ﬂﬁ]h’ﬁ{ﬂ'ﬂiﬂ”lyi {E B A AT A B35 0 5 IR fry %5 42

=9 KOl

[ 3 47] —'1*-55511?1 f\] i RI(E S A s, — RIS R 20 A B T A i e ) 8
AR Y ZEE smant BEAEW)E (B 4] (3035

ABER] B

[ BB ] R R A, BRI TR AT A S B L
€& F-9EafrRsgs

[ K347 ] 4R Ao LT @ﬁ]‘ﬁ%ﬁﬁ%ﬁﬁmﬂﬁ
IRIE AL AT BLAINC | il 1 1h: 4 ELH
L iR BgTm . (B D,

[255) A /51 WWW. henanzsb. com

[ MEE ] i R A T 2 PR A TR T B il ad T K 4%

[ X5 ] vTahia,
[ﬂﬁ]#“ﬂﬁg e A R RLE AU i, BEX A % 1P 1 hadn ' t taken your advice



yesterday,  WERACRS O, 4R had TV -

7 ER] L
§ =)= BRIRBEE LS OEEE RS R 28 AP W =SB i it End UL 5 2
& T RUES LI
[ 347 ) ot up with S g0 AR PEEAIEE, get on with BER" P2 RHE; 5
W AAEAEY ot on with @8V SE B KRN . PRIG get up with B3R BGET D REFRA,
PLEE S 1

R[ER] B
(B3] 4 A i sh i Weac e RAR B2 v
[ T skttt
| AT ) o o rp 4T il U A 2 5, to use animals for expeniment, %IW A (that it) {0
W8 Ay that it is-- 45 consider ()31 MO HLRT DI4E R IE BRI, o8I0 C(at be) f0M 320
consider it to be A7 Fi. 20 D{ it being) A B4R,

O.[EE] B
[ BBI% | e dpiop ik e 0], (e BRRY i SR AT 4 E A R S R (B B s iR R
& B RS
[ 8347 ] neiting 0 1“ Rt e A BRSO s 1A R A topic ; boring B B R" 4 A BT
A e Tt AR TR R, #54 wopic,
10. [EEI D

(R oeas b e 8k DR AT R TE
[ s ]w]is i’r*n*a
[ M3 ] thas fE a7 51 S eil AT, 3T BB B there TEAR AT HELRIE,
L[ ®E] A
[ BRI )40 ol Liar i i i Bl T4 (R A GEAE b LTS 6 1R .
[ %ﬁ]l i e
[ MRAF T 0] freeely fE G AR, 24 speak , 8RR BB HEiEiE" . eat free in his res-
taurant TEREULE T 4 SRR SEETHERE .

12.[ &%) B
§ PR RRRR PRSI taer: (I NIEE 3 - Wkl 8
[ s ) 6] X By,

[ RE4T Jintermupt $ERELE" Hlﬂr{J{AF}}ﬁhﬁ FRF(HAM)ITE" o interfere FTR" T

e A o L -}5:'_‘ e . shle 1 " 1 EE“% ‘fI
AR 5 ~. Fqﬁ%ﬂ i ﬁiﬁ

3. [ 5%
’* 2plEersizsh. com

G

[ %2550 Dl

[ 847 ) set aside TR L (CHRFBEM) AL, FRE EFSLETXER, se up ¥
2 ERAL R N L oset in BEUR" (BRRA W) TFE KNG . set along B
LG el | LA Hirereee HEF) " o




14,

13.

16,

L'F.

I8,

19,

21.

[EF&]] C

[ERI% ) il 2B R R A AR iR, g

& - SkntiRrt

[EFET]4F used to do sth, 594557 106, IR0 BEMIFE 204 - didn " t-o-

[#F&] B

[ &33% ] 40di | Ac B0t U103 a0 i

EF-BEO SR

[ 8847 ] A- L6 HI % 3" They found that the lecture was hard 10 understand. * ¥ X -~h] 1
lecture it understand FE ST, A TR SER .

[EE] D
[ BBi% ) I # f s Taikih 38 F il ik,
[ & )i a54 .,

(R4 Confoss to FH51 to JL i) 5 HORRAS WIS . T LLAHBR 63 A RO C. v
ing killed 250 B)4E MS2IE, SO E

[##] C

[ BB R T M AR i BRI 0 A 5 HA R RS A s JL AR Rt

[ 2 & ] ihada,

[ﬂﬁ] more--than---" fEfEA P LA 58 TE 7 O 11 1 RO "X )
FLER LS, Moy o B e . {940 : Jack is more honest than silly. 2552 530148
F A8 A st bk s

[E#E] A
[ BR8] Y iniih NS iF 7F 8 A Baend O BAER 45,
[ %5 LihashiE,

[ #3487 ] 4 4 LKA make fun of sb. B8 JE" BFFEA" , sE0] LIFRHLBH £ Tom f2" 3k A
BT P R EER ST O, R4S 25— B0 I, 75 B thon] LR, R4 &, D
IR IEET A0, (A4 T has i had, MTTTBASE 0T A MIEHIHR,

[E%]C
[ B3 ] 3R bR 2o I L B S o IR R AR
[ %5 ) in)ifishm.

[ 8847 | remember & KA ahin, Jq fu sl 4 Alelah 400, WS &inemEirs5EaE
iBA— Lfﬂ}{ﬁjr{; B Bl remember one ' s doing sth. " 1239 3 A & 54 W,

6 52 1 LR AR
e , iy g }l LY —
E{I#Eﬁ 1] K ]"E iz;

o o020l s | WD ERARZS DGO, s1an.we

must think ou l. i 5 make up for the mistake by him. ﬁ{i]ﬂ*ﬂ_’ﬂ’ﬂjﬂ'ﬂﬁd{ﬂm H Y
ZIRAR
(FE] C




26,

EF ok =J1~‘* r%fJ
[ 47 ) unless @ LAY Bl IS yT S BB (BrdE ) Mm) 5 H) (unless, 5] 5%
B R FARIE ) ) M BEK

('R C

[ BEI% ] 600 & A M ] 28 (B B AL

[ 253 ) is] S8R

[ REHT ] put across B8 A" {9 ( B O AR AR ) 0 R, e (L) " ERF G,
put aside B AL GEE (@ L% ) L B H" . put away EEE"IE---- At (ke [e] I
b1 . put down BEE"ES F a2 F i ER TR

[ HE] B

[ B ) i T AREr 8 ASP T T, i WS AT M 35 DL T B
[ AR ) aifdsng.
[ ME7) purchasing power 35 EUR" BRI REEAMARR.

(HE] A

[ W3R 724 217 A0 L S IR UL E IR 2L 3500 K BRI A

[ ] ] KB

[ W4T ] a1~k 10w SLAT opportunities( L2, HLI8) BEFF -G RAE . necessities B ER" LA
fa" o realities B5RLLL" B BCSEOTATE" o possibilities WEE" ATREFE" .

5. [#E] C

[ B ) it s i AT — PR e T .
[ & )it s,

[ﬂﬁ?]ll s hiph time that-- Gl R R ELES R R M), e W HEAT e
—, MED E El i) B R - it e,
[B&] C

(] 77—l T il

[ & )il shl.

[MB47)in case W F—", GG b B — R B Ae U — i e mt
oA B A (Y AR

[HE]B

[ ] ik j_HMhﬁlﬁ PR RS L

e T
}Eﬁfm 0 ™, Eficacy MR RCH R
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[ 2 )4 A
[ 47 )" no sooner---than--" B ER) 654, A R Y, LY —-oeee B ceres no
T



29 [#EE] C
[ B ] 7] 8 i T AT T A A B 2 T
[ i ]ithilahinl.
[ 847 ] ought 1o BCREAE" 7 2, Ra% " L2750 T2 20 AE ought not to do, #REEA)HE , G2 iTE M0
o L ER SR s 45 , 46 ub o7 §f S a1t C by iE i,
. 482l
[ G ] Ml TR SRS R RN T o
[ ] in] 2 Hidir.
[ R 7 ] A4 5 A, S M0 A0 2 DR (R A 3 3R, P8R, BL9E ms o result (£5H2) 79 4%
L0, on the contrary TR L #5450 HI L o in contrast BB HIEL2Z F" . in other words

AL e E 2 R
Part [l . Reading Comprehension( 60 points)

Passage One
[ BEAREE ) Ao LB S B 2 2 — A 2E S i b 3 LA B H 0 S A A e e
L R TR

3 [E#&E] C
[ MBHT ] AR Ao i, BT . @UBF S ER D K R o Mt
A -FEES 4" A university town is one where there is no clear separation between the uni-
versity buildings and the rest of the cily, " ( ZBFLIFFH A0, R TIHEFEMRE M
Wi nita 2 MR E R 4R, SEMC R X,

10 [ER] C
[ 34T ) ARy R HE TR RS, KB T R 755 — B b, 808" but most of it is universi-
" it AR A . iR L —%4)" The heart of Cambndge has it' s shops, restaurants,
market place and so on" | FIHEIE S it FTFEAIAE I the heart of Cambrdge , Bl C,

B.[EE] B
(] R KB, ETAAELE: THET DA ER b 8 —BW
A MW = P94)" Many students were too poor to alford lodgings. Celleges were
opened 80 that students could live cheaply. " ( B Z BT LA RE K08, REL TR B4 H
i, BT LI R TR AL RRPE Y, LA = e ma i 4, ) 538500 B[R] %,

AR R A
'_i*,ﬁ,n %_—E i o |Hj{jEE"—T¢

2 W DDA G e

--"4_111]T=H"1.r1 JUFBrA RIS BT, “.THFF;J*I?GJF'H Mmlﬂﬁ

ﬂiuhl}ﬂi i: }J 1 8 75,
5. [ BE) C




(AR ) ASLIR RS A A . R 1y DO AR SR R AE b LAY J0 44 BB 30
eI SRR Y o YT PO ES T 4] Don 't try to dnve through Cambndge
duning the five minutes between leetures | as vou will find crowds of people on bicycles hurrying
in all directions. " ( T J7 A S0 70 1 (0] T 4 40 S e ik X, R4 2 WUBNAR B2k 5
W AT A ) A I T 0] 0 ) 55 9001 C [R) 8L

Passage Two
(AEER] SOWERIBE T P A A g RGBT A R FId RO AR £ A M KR
fit () LA B L i L e o AR A BERRAEIR ST AR R AR RN AOPE 0
. [ %E] D
[ MRHT] A A S R J P o KR BB D AR A AR MR AR RN
g MUTREY THEY Professor Taiju Matsuzawa wanted to find out why otherwise healthy

farmers in northern Japan appeared to be losing their ability to think and reason at a relatively
carly age and how the process of ageing could be slowed down. " ( HACEE 438 A8 405

HAEBERT A IS R R iy s P sk de 2 T BB M AIEE ) 580 D( N
R R ST NN RS A
37. [ HE] B

[ M) A BRI AR, By A2 1 ( A AR ) MO TFST R B L v e A 4
SR B L SRR A Bk A R BT b, AR =B - he set a-
hout measuring brain volumes of 4 (housand people of different ages and varying occupations. "
HEREIIE R R

3 [HRI|D
[ MR ] A< RPN M (0 A R o ) AR S 2 1) B 0 200 A AR
Bt EE 45 a8 Aok TEHTIW R S HI{B S S — B The findings show in general
terms that contraction of the brajy begins sooner in people in the country than in the towns. "
CRLMHEIR AR N RRTHIRE P AR E R ) (93 B — L.

39. [HR] D
(WRET] 40 WA RL V) i M 1 e ) R R S R i B F subjeat ) B BR
o RTA MERUL AR AR, S B MEEREH A ®T
CHyRREE" B B R" ., &y D p G R B M A RI R . B8 EF
HH IR AR D,

RNt s
REZ0 T By ™ (U, KPS RS LA T 5L 10E 8
RS eSS0 *GoR*-

Passage Three
[ BB ] AR IEE T2 35 Bk s B A J s Ak s HE R 3R, S — B ilfRes
2 A S R F Y 0 1,




. [ER]D
[ Mdf ) Al il T KRR ol 2 o] L HENT IR B
RAEDR LR B R A S — B B 4. Hile, 5T R IR D
IR

42. [# &) C
[ AR4T ) AR LMo AT R, BTyt o0k b SRR L i
S B FRAT A AR 0 0 o 5 i 2 B R A AT F e o7 4, 9
B L main services ) HIFF T L 2L 55 ( water , electricity , sewer” Y BR4 N 2215 .

43. [®E] C
[ REHT ) AREAL YT D AT, R (8 AL« B 07 T2 A 0 R o i 6 30 9 001 386 ML iy
Hoscepdy BB S - -] Other pipes bring the water, down from the storage tank to the
kitchens and bathrooms in, the building. " PJHIZEIR C 2 F RG22 %,

4. [EE] B
[ AT ) A KT AL W S W AR, T B B AR NG S A Al e i oy Sy = B2 S

— A1) IS T46)" When the water has been used , it is taken away from the building by drain-

pipes. | These take the waste water " to another’ large pipe under, the road — the main sewer. "
(KRR ZIm el AT B K HE B3, 86 55 MB B R B Eb i ks R AT,
RIER g L) v R 0T B S IR E S,
45. [ F&E] D
[ T ] A< RS JE A 2 40 W M RS T O R TR o L0y e 0 A 3 9 3 2 Ay
o AEPIPOENEY =48] The cable is connected to a meter,, in the building, ", #28]
B A 5 — " meter” ({0, ) M

Passage [our
[ BEAZRE] A bk 7oA L 7 F DR T A0 0L, s Wl o SR B ) S SR A T A
i AR T SR LR AR R S AT
46, [ FHFE] B
Iﬁﬁ]*"}‘;ﬁj# iﬁ ir Hiﬁl‘f!ﬂa LTJ’FJAF# I'r r:ﬁrjﬂ:_ﬁj.l_ ff\-'.j:."_"g | rfj"l' mys-
tery! () B RERLLL " p RS RO HTAS , HELL BRSO, ST B oh hlf!r!r:n or secret” JLI--]J{
47. [ %533] C
DR VARSI, T 00 KRR « A S TS 2 ek BT 0 (0B

5.z -1 CARRY T AR R TS TR . AT

B\ | B % A AR I
a8, [ 2= ¢ !ﬂ iE

[ R3#7]

Shedf d-nr e 1
HAHY — R e i _.QE sougds ! L‘!’E,¢ led words, "

(AL {7005 AABACT A, BT 0T ) W TR IE R 4
9. [FR] D
[ MR ] ARE AL i PR R, RE T o AL T M E R 754 T i1



50.

N RS ) S B AR T association (IX AR GE ) " B3R D. represent-
ative function ({CA D)) B MIER . HAR =T BB R 08, (8" " $5 00, §%
GE" " LA BIA SR,

[®#E] D

[ N ] A ST AL Sy R R T e AR A A e ey R AR i, 5 K T A TR B
o AL SRS = EEW = 4" Above all, a real poct can express his meaning in words
which sing like music and can move men to tears. " TWIEFRTIH R,

Part]ll. Cloze(20 points)
[ BRI cBcURL CEEp ST Tl 2 6078 AR UF AR -1 28 45l

51.

53,

54,

55,

[ AT

fOFERE, o AR A HIREGE .
[EE] A
[ s |2 HEHESE
[ M4 ) is] L aidir .
[ 47 ) 448 L F o, ERaG S AT vhe M, = A 2 hERE RSN
FUFE" &I D, information TS . suggestion () | context (1 - _TX, i HE) #)
abstract ( 3 REH 25 ) B RS B
[#E&] B
€ 7. 9 BeE (ST TN,
[REET) AN L 1 o bt FALL P sl 7P e o i i e
[#FE] B
[ &) ifiik i,
[ AT ) HERGT 65 SE T A4 who s motivated - $EUERT TR (0 ST IR AL o one ({U$
the studem ) .
[FE]] A
€ F-9Bd E31N
[EHT )40 b F o, G B JRAT M 2 e e T RUAR A" Gl 22 2] ALy 2
te AN A~ (U0 W S SR ) 2 A

[#E]D

& F-9R0IE
[ MHT) B0 (e TR AT B A AUl T LT O T B4y ar e L with
G 7 without ML | IE$F5 0 W,

‘1:":‘~ HIE‘}WH %*Lt’ ﬁﬁﬂl I:; ;rl'ui:‘FﬁJ”"—r’—'l]?f
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[ MR ) Akt 1T o, AR50 F A ST 2%, B DB A B o BURR U b T 0o 98
SERTfiE 3 IR R R S M5 E .



59,

G,

0Ol .

62,

63,

f:4.

15

hfh,

0.

GE.

(Y,

[#®&] b

[ s A AL

[ R34 ) 40l g T R OG, i R FF B I mindmum L 80454

[# &) A

[ A EUHER,

[ KT e |F 30 A B SR el — ] " PR A 2 TR ML e A A
Ak Z TP R LA L R IR AR S e g T

[#&®]D

[ ] il L BN

[ﬁi’!ﬁ} #‘. ] ) '“,h SUBEAT I ) 22 1) 2 A R AL S AR i fe ey, I o A L
UM IR Phv iE el Bl TA

( E‘EJ A

[ 53] in] L HEAT

[ 347 ) particularly $TELE" SR SRl ", EWMN A @ ICE A (AR 2L ), 0L grad.
wate students{ #1900 ) GESEST R (/{0 Frdi X YT H ( relerence sources ) ,

[#®] C

[ & ) AtE,

[ B35 ) reference sources BF R EL" B 400§

[#H&] D

[ 5 ] ilnikE .

[ 4T | prefer WAL FIR AW, 207 T AMBEMECR, @l SFoh b, ik
Jelade s, AU should + Bl [5TE " should 250470, IEEF 07 5 42 a0,

(HER] A

[ s ] g,

[ R34 ) A PR AL o i SR T 2 A {8 ] A RIS A R A el s i | R LEL
nit be oo dependent on them,

[H&]D

[ & ] B,

[ W47 ) besides J7 B T teaching LLSREAY SIMTET"

[H&E] B

[ 23] il SCH

[ R247 ] therelors TRTGRE! [k, :rru. ,m.ufi- |-rlrr‘.1mm
[ #2144

[H?“r]ﬁé N | g i ‘f;'?{Wﬁﬁ%Wgﬁ%ﬂdﬁﬂéﬁlﬁbﬁéﬁmﬂ-tFi‘-JEiaHHi

[-‘Eﬁ] C
&SRS
[ BB 47 ) approach (00 BOUE JBUE" 700 B4R 08, it el ik




70 [ HE] A
& F-Q BT
[ REHT]" cither-or o AL BT e A e

Part]V. Translation( 20 points)

A, Translate the following Inte Foglish

71. [ % ] Computers play n very important role in our daily life.
[ HT ] play o vote QLo] LA nlay a pan . in our daily life 557 in our everyday Life,

T2, [ MIFE] As long as vou keep on trying, you will suceeed sooner or later.
[ 84T ] as long as (T RLEE % so long as; " AR KL " E PR sooner or later”

73, [MIEE ] is up o vou who will be invited to the party next week.
[ MEHT ] be np to sb, SELE A~ BUSE  d] - 1S E

79. [ BIE ] The movie reminds me of what | have seen in Beinng,
[ HT) " remind sh. of sth, " JUE 2858, 02 (A0 A A 1 ge | 54 the movie 0]
LAY the flm 408

i [Hﬂ][ have ot used to this way of life.
[ W4T ] " be used 1o sth, Adoing sth. " BEEES5H) B 0" O JOCFHES
AT N LR AR Y ke stvle”

B. Translate the following into Chinese

T6o. [ BE ) Rl ARG A B D T E AR R AR
UMBET | rely on 3 LR i, AR A" 6 B VR4E " Lo T, BT P& DL 26X I 8. not
only=+-nt also- BUEAL" FAH oo Lo

T7. [ M /ST I AL, i ke L 5 BT T
[ 8547 ] " in spite of - R[S SE R LR 24T . be determined to do sth. 3 8GR g
8 B 1A

T8 [ R ) AT DN R BT -G TR — T o A IR RS TR
[ RHT ) Bl 2ol 108 1 O et | Aol 2577 A 0 1 24 LB W A 4
[ BT ) countless af fil A4 Sl b 2 -, BB SRR, B4 K™ s far more effective
XL Beee o REATRL, AT

BO. [ R3]S M d 20 - B0PA N (B ORAESE ) | ieh ] 2, 0 SEnka 57, {1 807 b B A5 2] 3T
QI Tk

e

TR S et af d— 1" i the more--the better--- J¥ 1L

A R Ak T I

wwW. .henanzsb. com

It 15 almost knowfi Ta all that smeking 15 bad for people’ s health, Many years apo, seientists

found that smoking con lead to a lot of discases such as heart disease , stonach trouble , even lung

caneer. What ' s more, smoking is harmful not only to smokers themselves but also to other people



arcund them, especially 1o women and children.
Stll ,many people bind it difficult to stop smoking. For them giving up smoke i< impossible

First, they are so addicted to it that they ean’t |It°']]‘.| smoking at anv time, Seeondly | they ane

wnd |mh1 . Ve g so on.
ohto bl Fp iEI'imt of all,

hive printed a warning: " Smoking is harmful 1o vour health.

fee wwmrhten aﬂfngwmﬂﬁmm making laws

friewspiper lo avord 1ts negative effects,

it o rels
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